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7.	4y + 3x = 12    where x = 0
	4y = 12
Y = 3  		 Q (0,3)
When  y = 0
3x = 12
  x = 4  	P (4, 0)
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11.	Length = y    width = y – 4
	y(y – 4) = 32
	y2 – 4y – 32 = 0
	y2 + 4y – 8y – 32 = 0
	y(y + 4) – 8(y + 4) = 0
	(y – 8) (y + 4) = 0
	y = 8    or y = -4
	Length = 8
	W = 4

12.	1SF = 1.28DM
	1 x 52  = 40.625  S.F
	 1.28
	1 S.F. = 45.21
	40.625 x 45.21
	          1
	= Ksh 1835.60
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15.	On the graph














16.	3p + 4b = 155
	2p + 5b = 150
	
	2(3p + 4b) = 155
	3(2p + 5b) = 150
	6p + 8b = 310
	6p + 15b = 450
	-7b = -140
	   b = 20
	6p = 310 = 8(20)
	6p = 150
	  P = 25
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	b) A (6 , 0)
	     B(0, 4)

	c)  x 4 x 6M1
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	   A = 12 Sq units

	d) 	

	   




18.	a) 6 + 14 + 24 +14 + x + 10 + 6 + 4
	     	   = 100
	   	x = 100 – 78
	   	   = 22

	b) Modal Class = 35 – 44
	 
	c) 

	         
	d) 
	X
	f
	Xf
	C.F

	19.5
	6
	117
	6

	29.5
	14
	413
	20

	39.5
	24
	948
	44

	49.5
	14
	693
	58

	59.5
	22
	1309
	80

	69.5
	10
	695
	90

	79.5
	6
	477
	96

	89.5
	4
	358
	100


		      f = 100  fx = 5010

	Mean  X = fx		     
      fx 
 = 5010
      100
= 50.10			
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21.	a) see at back








	b) PS = 10.8 + 0.1 			B1
	    = 21.6 Km				B1
 	 ii) 2860 + 20  				B1


	c) 

	`M1
A1

M1
M1
A1

M1




M1
A1
M1
A1
M1
A1
10





M1

A1





22.	

	










23.  a)
	
	X
	0
	1
	2
	3
	4
	5
	6
	7
	8

	Y
	-6
	-4
	0
	6
	14
	24
	36
	50
	66



 			(B1 if six points correct)			M1
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24.	








a) <DCTB1

B1

B1
B1






B1

B1

B1

B1


B1

B1
10

 380 Angle subtended by a chord and tangent equal to angle subtended by same chord alternate segment

b) <DEA
900 Angle subtented at the circumference by the diameter

c) <ACB
<ABC = 180 – 52 = 1280 Opposite angles in a cyclic quadraturial


	c) <ACB = BAC = 180 – 128 = 52  = 260
2	      2
		Base angles of the isosceles 
	d) <BDC = 260
	    Angle subtended at the circumference 
      by the same cord
	e) <BOA 
	    <OBA = <OAB = 38 + 26 = 640
	      Base angles of the isosceles 
	       <BOA = 180 – (64 + 64)
	        = 180 – 128
	        = 520


			Apply (000 – 1) if no 
reason given








15.		[image: C:\Documents and Settings\user\Local Settings\Temporary Internet Files\Content.Word\scan0008.jpg]

21. a)      [image: C:\Documents and Settings\user\Local Settings\Temporary Internet Files\Content.Word\scan0009.jpg]2860 +20	 B1  B1

image2.wmf
40

9

20

 x 

54

9

 x 

27

100

 x 

2

 x 

5.4

100

 x 

9

 x 

0.27

 

2

 x 

5.4

9

 x 

0.27

 

4

 x 

29.16

9

 x 

0.27

=

=

=

=


oleObject1.bin

image3.wmf
6

or  x

 

3

x

6)

3)(x

(x

0

6)

3(x

6)

x(x

0

18

3x

6x

x

0

18

3x

x

36

6x

2x

36

6x

2x

3

3

2

2

2

2

36

6x

2x

2

=

-

=

-

+

=

-

+

-

=

-

-

-

=

-

-

-

-

+

=

=

+


oleObject2.bin

image4.wmf
2

:

3

:

2

3

12

8

58

70

50

58

58

58

70

50

58

y

 

x 

70y

  

50x 

=

=

=

-

=

-

+

=

+

=

+

+

y

x

y

x

y

x

y

y

x

x

y

x

y

x


oleObject3.bin

image5.wmf
42

.

20

3

7

 x 

55

22Sin75

 x 

7

14

 x 

7

22

 x 

360

75

sin75

 x 

22

 x 

x14

2

1

A

0

2

0

=

-

=

÷

ø

ö

ç

è

æ

-

÷

ø

ö

ç

è

æ

=


oleObject4.bin

image6.wmf
12sides

n

720

60n

720n

360n

300n

2)180

(n

2

165n

2

n

135

0

0

=

-

=

-

-

=

-

=

+


oleObject5.bin

image7.wmf
.)

.

4

(

62

.

21

62213

.

21

368

.

21

25413

.

0

)

10

5342

.

0

(

4

23513

.

0

10

8723

.

1

1

4

25413

.

0

18.723x10

4

10

 x 

2.5413

4.327x10

2

2)

10

 x 

(6.458

1

2

1

2

1

2

1

f

s

x

x

\

=

+

+

÷

ø

ö

ç

è

æ

+

+

÷

ø

ö

ç

è

æ

+

-

-

-

-

-


oleObject6.bin

image8.wmf
C

0

C

0

C

Π

858

.

0

5

.

154

360

154.5

Π

 x 

2

360

2

Π

=

=

=


oleObject7.bin

image9.emf
 

~ 


image90.emf
 

~ 


image10.wmf
8.4cm

102.5

Sin 

45

11.6Sin 

PQ

Sin102.5

11.6

Sin45

PQ

=

=

=


oleObject8.bin

image11.wmf
7

12

2

2

2

3

2

2

1

3

2

M

3

3

x

3

2

y

5

2x

3y

5

2x

3y

1

-

=

-

=

+

=

-

-

+

-

=

+

-

=

+

-

=

=

+

k

k

k


oleObject9.bin

image12.wmf
3

3

48cm

 

162

 x 

27

8

 

smaller 

 

of

 

Volume

8

27

2

3

V.S.F.

2

3

4

9

L.S.F.

4

9

48

108

 

 

A.S.F.

=

=

=

÷

ø

ö

ç

è

æ

=

=

=

=

=


oleObject10.bin

image13.wmf
916

.

5

35

3

1

5

3

1

5

7

5

1

5

3

2

2

2

2

2

=

=

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-


oleObject11.bin

image14.wmf
1

4

y

6

x

12

12

12

2x

12

3y

6

2x

6

3y

3

x

2

y

3

2

6

4

3

 

-

 

3

-

2

 

-

 

6

 

 

M

=

+

=

+

+

-

=

-

-

-

=

-

-

=

=


oleObject12.bin

image15.wmf
0

1

-

69

.

33

3

2

Tan

 

 

angle

 

Acute

=

÷

ø

ö

ç

è

æ

=


oleObject13.bin

image16.wmf
79

.

48

10

4

44

2

100

44.5

Median

=

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

=


oleObject14.bin

image17.wmf
3

2

M

3

2

718

 

7

 x 

7

 x 

7

 x 

7

22

x

3

2

Πr

3

2

 

 

Vol

=

=

=


oleObject15.bin

image18.wmf
3

2

1232M

 

8

 x 

7

 x 

7

 x 

7

22

h

Πr

 

 

Vol

=

=

=


oleObject16.bin

image19.wmf
1.95Litres

1000

3

2

1950

 

1232

3

2

718

 

Capacity 

=

=

+

=


oleObject17.bin

image20.wmf
2

2

748M

440

308

x7x8

7

22

x7x7x

7

22

2x

rh

2

2

Π

S.A.

=

+

=

=

P

+

=


oleObject18.bin

image21.wmf
1500

2000

85000

12000

3

2

4

3

3

2

4

2

 

3

2

4

3

      

85000

12000

3

2

4

2

      

85000

 

3y 

 

2x 

      

12000

 

4y 

 

3x 

      

850,000

 

300y 

 

200x 

      

360,000

 

120y 

 

90x 

   

b)

3

2

4

3

3

2

4

3

1

1

 

Inverse

1

 

 

8

 

-

 

9

 

t 

Determinan

=

=

÷

÷

ø

ö

ç

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

-

-

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

=

+

=

+

=

+

=

+

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

=

y

x

y

x

y

x


oleObject19.bin

image22.wmf
86000

sh 

 

1800)

 x 

(30

 

 

20)

 x 

(16000

sh 

   

 

paid

n 

businessma

 

The

 

1800

sh 

 

  

          

          

1500

 x 

100

 

120

 

  

rice

 

of

 

bag

 

a

 

of

 

Price

1600

sh 

 

  

          

          

2000

 x 

5

 

4

 

 

beans

 

of

 

Price

=

+

=

=

=

=


oleObject20.bin

image23.wmf
2

2

2

0

2Km

94.64Km

31.2Km

63.44

A

12Sin150

 x 

10.4

 x 

2

1

 

12.2

 x 

10.4

 x 

2

1

A

±

=

+

=

+

=


oleObject21.bin

image24.wmf
%

33

.

33

 

  

          

          

100

7200

2400

 

  

Increase

 

%

  

d)

7200

 

          

          

20

144000

 

 

d

Contribute

   

c)

20

 

 

      

15

20

       

0

 

 

15)

 

(n 

 

20)

-

n

(

      

0

300

5

        

5)

 

-

(n 

n 

 

 

00

3

      

24000

s)

n(n

720,000

  

b)

s)

n(n

720,000

n

144000

2

n

14400

    

a)

2

=

=

=

=

=

-

=

=

+

=

-

-

=

=

-

-

=

-

-

x

n

or

n

n

n


oleObject22.bin

image25.wmf
units

 

Sq

 

170

A

2(134)

(72

2

1

 

A 

50)}

 

 

36

 

 

24

 

 

14

 

 

6

 

 

0

 

 

2(4

 

 

66)

 

 

x{(6

2

1

A

=

+

=

+

+

+

+

+

+

+

+

=


oleObject23.bin

image26.wmf
units

 

Sq

3

1

169

3

22

3

464

2

22

 

sign

 

 ve

-

   

more

 

19

       

3

22

12

2

(2)

3

2

6x8

2

8

3

8

0

12)

2

2

3

2

(

6x

2

x

3

x

6x

2

x

3

x

6)dx

x

(x

6)dx

x

(x

2

2

2

3

2

3

8

2

2

3

2

0

2

3

8

2

2

2

0

2

=

÷

ø

ö

ç

è

æ

+

+

\

-

=

ú

û

ù

ê

ë

é

÷

÷

ø

ö

ç

ç

è

æ

-

+

-

-

+

+

ú

ú

û

ù

ê

ê

ë

é

-

-

÷

ø

ö

ç

è

æ

+

÷

ø

ö

ç

è

æ

ú

û

ù

ê

ë

é

-

+

+

ú

û

ù

ê

ë

é

-

+

-

+

+

-

+

ò

ò


oleObject24.bin

image27.wmf
0.3937%

x100

3

1

169

3

2

x100

3

1

169

3

1

169

 

-

 

170

error

 

Percentage

=

=


oleObject25.bin

image28.jpeg
»





image29.jpeg




image1.emf

image10.emf

